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I x mwn: stages of processing q1yn nron
a  From wipm nYyn attaches
b From 7’51 can become 5091 if touched by by %120 or 0193 701NN or by leaving 07 overnight (nyY)
i Inference: a v M2v can only invalidate (Y019) but not make it Xnv (such that it could generate nkmv further)
1 Attribution: 1127 (in 3-way dispute with n” and %1R® RaR)
(a) &n792(7:8 N17770 KNoDIN): regarding status of ny 5120
(i) 2ww Xax heis a w1y N NN (i.e. makes wTp-meat that he touches a nrNVY NV)
(if) »77: considered like a NRMVY W = renders Y1 as RNV (MRMVY 'WHY) and NN — only Yoa
(iii) 2w just as he can only render nmyn (and nmAn liquids) %109, so he can only render wp as Y108
(b) Rejection (x27): possibly, all agree that n7nn jn a 0v Y120 doesn’t render RNV (just 9109)
(i) 5w xax 1117 made a "nYyn” such that ¥12v is considered like a XMV NYRI
(i) »7r 1171 made a "nYyn” such that »av is considered like one who eats »w 9718
(iii) 7227 since he was already 210, his nkmv is “weaker” and he can “only” render anything %108, not Xnv
¢ From i (or nyp— see discussion below): can become v"15 and n%yn is completely lifted
i Inference: n»>yn is lifted, but there is an NRIN MR
1 Challenge: it is owned, at that point, by 0’372 — why should there be n%yn?
2 Answer (8721 77): in case it went out of MY — per Y™ (PRRVY NHYIN NPT > NP0 is lifted)
(a) But: it may not be eaten (xxv)
II  27's ruling (2 versions — dispute X"ar7/811 "1 as to what he said) about indispensibility of oTn »¥n in 90 nron
a w177 dispensible — since our mwn reads N7 NN >N is of no consequence
b 727%8 92 78’7 indispensible — he reads nn7 N¥'n in our Mwn
i Support: v. 1 points to ¥n as that which renders it nxon
1 Defense (81177 /7): IW) means “if any remains” (per YRYnw 7 727 Ran)
2 And: »n nron refers to the first command (...ntm)
(a) Challenge (?wx "15 N277 7773 NNX 77): v. 2 reads nInim should mean “if any remains”
(b) But: it cannot, per Xn»12 expounding v. 3 — if any flour, oil or N112Y are missing >must be nnn
(i) Answer: nIMM is an extra word, teaching that there must be nan (nnn »1»w) for it to be valid
it~ Challenge (580w7 7128 to 8277 77): 2:1 NAT RNAOIN — both MHYn nron and Yn N5y that were pYni or 1¥m with intent
1 pwor5 pir Swa and naa attaches
2 mpnls pir 908 and no N9 attaches
(a) Point: n¥n is identified as a critical (indispensible) point in both qwn n%y and 91wn nxon
(b) Defense: the xn»11 is distributive — npon applies to both N5 and nxon; »¥'n — only to Ny
III Revisiting YRynw> 1727 RIN’s read of IRWIN (above) — meaning “if any remains”
a  Challenge: YRynw 1 disputes ™ and claims that n»w are 253vn (in nYn2a mron)
i And: 9" limits their dispute to 93yn nron N¥N (to HYRYNY? "7 — it is indispensible)
ii  Answer: there are two Xin each with a different tradition about Yxynw’ *9’s position
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